
 Battery Mount

SM-BMR1
SM-BMR2

SHIMANO
CODE NO.

DESCRIPTION

1 Y7F398010 Battery Cable Cover
2 Y7F398020 Base A Unit
3 Y7F398030 Spacer (4.3 mm) 3 pcs.
4 Y7F316000 Base End A
5 Y7F317000 Base End B

Y7F398040 Base B Unit (M4 x 10 mm)
Y7F398050 Base B Unit (M4 x 16 mm)

7 Y6VE16000 TL-EW02 Plug Tool
Feb.-2016-3457B

© Shimano Inc. I

Specifications are subject to change without notice. 28M71000000-1101-001

28M82000000-1101-000

28M82003000-1101-000

ITEM
NO.

6

Internal type: Long size battery mount

External type: Long size battery mount External / Internal type: Short size battery mount

7

6

1

3

4

4

2

2

5

M4 x 10 mm

6

M4 x 16 mm


